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1
Introduction
In RAN2 #99bis meeting, the discussion on whether to support 2c/2x was triggered, however, no agreements were achieved. Then, an LS [1] was sent to RAN3.
From RAN3 perspective, we need to identify whether there is any benefit to support 2c/2x or not by taking the extra RAN3 standard work into account.
2
Discussion

As shown in [2], one observation was given by saying the support of full flexibility for bearer types.
It is important to allow more flexibility at bearer type change by keeping the node hosting the (SDAP)/PDCP entity. This reduces path switch signalling towards the CN, Xn/X2 signalling and avoids re-establishment of PDCP.

It is understood that the path switch signalling could have impact on the user experience. However, the question is whether the issue of frequent path switch exists or not. A smart network is able to avoid the frequent path switch caused by the radio link condition because the MCG split bearer and SCG split bearer can be supported. By taking the agreed SCG split bearer as an example, when the network configures UE with the SCG split bearer, the UE is able to perform data transmission via both MCG and SCG. 

[image: image1.emf]SGW

MeNB SgNB

SCG PDCP

MCG RLC

SCG RLC

SCG PDCP

MCG RLC

SCG RLC

SCG PDCP

MCG RLC

SCG RLC

LTE coverage


Figure 1. Possible solution to avoid frequent Path Switch

From the network perspective, the flow control is performed between the SgNB and MeNB. Once the network detects that the NR path condition degrades, the SgNB is able to change their flow control strategy, e.g., offload all the data to MeNB in order to stop the downlink data transmission over SCG. In that case, no path switch will occur.
From the UE perspective, it is also feasible by considering that the UE can be configured to perform UL data transmission over either MCG or SCG, or both.

Observation: The frequent path switch can be avoided by network implementation, e.g., flow control mechanism, based on the real time radio condition.
In summary, the 2c/2x options do not have extra benefits. Furthermore, it requires a lot of extra standard work in both RAN2 and RAN3 as proposed. Considering that the NSA topic needs to be closed by end of this year, more justification is required if the new options are introduced.
Proposal: Option 2c/2x shows no clear benefits and they will cause a lot of standardization impacts.

3
Conclusion

In this contribution, we discussed the 2c/2x based on [2] and the following observations and proposal were provided:
Observation: The frequent path switch can be avoided by network implementation, e.g., flow control mechanism, based on the real time radio condition.
Proposal: Option 2c/2x shows no clear benefits and they will cause a lot of standardization impacts.
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